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Instructions to Candidates:

(i)  The question paper is divided in two sections.
(i) There are sections A & B. Section A contains 6 questions out of
which the candidate is required to attempt any 4 questions.
- Section B coﬁtains short case study / application based question
which is compulsory. ‘

(iii) ~ All questions carry equal marks.

SECTION - A
Mhat is a project? Describe the essential features of a project. How are project

investment decisions taken? Discuss. [4+5+5=14]
Q. 2- Write note on:

(a) Work break down structure [7]
(b) Responsibility matrix A (7]

Q. 3 The capital cost of a project is estimated at Rs.50 lacs and its life is 5 years. The
'expected cash inflow and expected cash outflow of the project is Rs.50 lacs and Rs.30
lacs respectively resulting in net cash inflow of Rs.20 lacs every year during the
project life. e
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(a) Taking ‘3.0% as 'e:-q)'e'cted rate of return determine the NPV and comment on the
S, | - 7]

(b) Ifthe inﬂaﬁon faptb: is 10 per bént per annum determine thé NPV and comment °

an the project:' -y ioslsgen) | i [7]

[\/d. 4 What is project planning? What different aspects are covered in a project

A i ~ o | [4+10=14]
\)}-5 Discﬁss in bﬁef the foliowing: | | /
(@) Project q_ualitjy plann_mg itk | R i Yl = L M
b _ U_Se of networkmg techniquésl in project mana gem'em,\ o - o

AQ./6!What is project p_erformanCe ‘_jevalué,tion? Briefly describe the purpose and importance .

of such evaluation. [5+9=14] .

-

. 'SECTION-B

Q. 7 The estimates in respect of a project are éivé'n below: _ _ [5+4+5=14]
: Annual demand of the produét-‘ S 16,006 units
Price of the product | Rs. 10 per unit
Variable cost of the product Rs. 3 per unit
Fixed costs o | | Rs. 30,000/-
Rate of Tax 50%
) R Rate of Depreciation v 20%
Life of the p,rojectr _ X 5 years' 3
Cost of funds | | 10%
Salvage Value Rs. 40,000/~

Cost of projec_t i o 'Rs. 1,40,000/-
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From the above information find the net present value of the project. Apply sensitivity
analysis to determine the change in net present value of the project in any one of the
following situations one- by one.

(a) The cost of funds goes up from 10% to 11% or gas down to 9%

(b) The rate of tax is decreased to 40% olr increased to 60%

(© The selling price of the product is increased to Rs 11 per unit or is decreased to

Rs. 9 per unit.

[4M402] ' Page 3 of 3 _ : [2160]




